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Unit 4 Day 6: Solving Systems of Inequalities

Focus Question: How do 1 find the solution to a system of inequalities?

! Graphing Systems of Inequalities

Your parents require you to pay for most of your car related expenses (gas, insurance, repairs, loan payment,
etc). This comes out to about $90 a'week so you'd like to earn more than that. You have a part time job as a car
wash attendant that pays $6 per hour. You also have a dog-walking job that pays $7.50 per hour. Your parents

only let you work 20 hours each week so you can keep up with your homework.
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totals of no more than 20 hours are located. .
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Write and graph the inequality that represents the § \ © 7
amount of money you’d like to make each week. Y Fi
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Because an inequality is more than just a line, (it is the line, plus the glon of points that make the inequality

true) a system of them always has ...

infinitely many solutlons or no solutions.
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On the set of axes below, solve the following On the set of axes below, graph the following

system Ofilw%mphiqally. " e L system of inequalitics and state the coordinates of a
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State the coordinates of a point in the solution set.
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Solve the following system of inequalities A company manufactures bicycles and skateboards.

el
__.___?-—---“-I" - -
—

-

. ~- ™ * - ‘r" - - ;_:_ﬂ-___.“- T
graphically on the set ot axes below. The company’s daily production@f bicycles@annot
il il . - * - —

Ix+y<T cexceed 10, and its daily production ofskKateboards” ™

A n@rmﬁq than or equal to 12.> The@@mbinéd -

}'_:'-:: :‘if“'-‘ i ' sl g ) byt _ VT oF PN 1WTH
ye3 number of bicycles and skateboardgTannopbe more

State the coordinates of a point in the solution set. If.x 1s the number of bicycles and y 1s UK
1mber of skateboards, graph on the accompanying

) set of axes the region that contains the number of

;

e e R . |
T T T T T T T T T 11T bicycles and skateboards the company can
} : ] s # 3 ; k 8
}._ g ?...,_,...él,,,,__,g,_..,_.},_. s =% .1:: .‘:‘_.H_?,..-.n.. P i__{,_ W TR Wy e z
BERREEREREREN f |l manufacture daily.
’r.. .-..-H?...-.-,.?im:f.,-ﬂ;?f.w?..u.-h%-.-.-?....,... ,‘!-.-_-,“?.....H —h-'..:_.'rr'-?-“. - i N I--.- -qn--r___. i
BEEEEEEEN i g L | — —
s, ?.. - 1,. ,___,T .,,__._.._...F.,.H._HE,_.._:‘: ,..m_f e a-_.[-“---i..--.-a- - i IVEL WP V- . .
RBEEEEERN mn » ldentify your variables.
1~.—.-_-‘-m-_?..-w.-fq.u_;¥_m.,.,.¢,_.._‘!._'_,_,_,._T,,..h_?,_m_._h?”.‘.-.q. e el e .-:!-_—1:1-'-1'?”.- - .......,\%_.,.___,. ks ‘
BEEEEEREEEREE ] ’ <
B BEEER 1] } | 6
' | W Ny + = ,:‘im ?..-___:E.;_.- i ; R W oy " S 1. S
; i ] I i } ; ? i ? : r H
et il e Bl el s Eec bl e i it . I . 5 ~ ,? S "\YQS
RN 1| 1T | O \_Co
Pt onsossuss Resfundobmebonbeigs bkt \
BEREEEEEEEERE E | ?;
;.,_#T,__-i..w_s._...f__.;_._;_,,.fwm.g.__....%i_._ﬁ.- ,42__.?#_7 e TR S— - _%,m_r_._._ h
: : " 1 : : 3 : : : ! | r . OQ
| ooty ™ fririntregiepics Makeyourmggﬁew\ | LA
{ & | 1 | L_ ]L | ’_4 J
SREEEEEEEEENNRRNEEEEE <
:.....a;.._ﬂ. ?-.--i.—.m ....J.-._..#,__-_.;,.,,.., i,_q-_.,i;,“...ﬁ PO — _..._-.;..,... ‘;M_.._._.!._, __._,..i ——— X ‘D
~ | : . g . i : } 1 :""—1‘4
|

. ]
3 : i i
i | ' £ / B
'F_-_.__ ...r.?._.-.f..._f- ,—‘*ﬂ- -H-F_ui.‘*h-ﬁi- -.-.r--'...,.‘..,&p--r . A it g o
M 1 | - i % 3 ¥
! E y i 1 ¥

I
r

I .
L

| .:- : J 3 -
I N T S T O O * o *T‘* & \‘2
- B | 1] ]! ; i ¢ {_1 } } o
:_,i ;, * ; %_,?u.ir_%u.i .. i -+ tﬁ - j l X_\__ 4_ lLQ
;_ o { ; pt - 1.._?__ O H— ;__E__ ,-E e i il I
R EEEE - _.,_%.d.,’.___; N - | |
BERE Lt id Graph on your own paper.
) EEEERES




